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§15.10 Change of Variables in Multiple Integrals 
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Definition： 

 The Jacobian of the transformation T given by x = g ( u, v ) and y = h ( u, v ) is 
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Theorem： 
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 Example 1： 
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＊註記： 

(i). 當 Δu, Δv 夠小時，轉換後的面積倍率為 Jacobian 的絕對值。 

(⇒dA = dxdy = |Jacobian| dudv) 

(ii). 若 T 為 Linear Transformation, 則任一區域 S(不須小)經 T 轉換後之

區域 R 面積為原面積的|Jacobian|倍。 

＊註記： 

(1) 
 
  .sin

,,

,, 2 




 zyx

 (2) 
 
  .

,

,
r

r

yx






 



4                          國立交通大學應用數學系 莊重教授 

 Example 2： 
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 Example 3： 
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 Example 4： 

  Evaluate the integral  

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dAe , where D is the trapezoidal region with  

  vertices ( 1, 0 ), ( 2, 0 ), ( 0, -2 ), ( 0, -1 ). 
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